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TheStandardTemplateLibrary containsmany functionsworkingonany container. Wehighlightafew
here.

� find

– InputIterator find(InputIterator first, InputIterator last, T val-
ue)

– returnstheleftmostoccurrenceof value if present

– returnslast if value notpresent

– #include <algorithm>

� copy

– OutputIterator copy(InputIterator first, InputIterator last, Out-
putIterator result)

– copieseverythingfrom [first,last) to thecontainerrepresentedby result

– outputcontainermustbelargeenoughalready!

– returnsapointeronepastthelastchangedposition

– #include <algorithm>

� transform

– OutputIterator tranform(InputIterator first, InputIterator last,
OutputIterator result, UnaryFunction op)

– fills outputcontainerwith resultof op appliedto eachmemberof theinputcontainer

– outputcontainermustbelargeenoughalready!

– theinput andoutputcontainercanbethesame

– #include <algorithm>

� for each
�
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– UnaryFunction for each(InputIterator first, InputIterator last,
UnaryFunction op)

– appliesop to eachelementin theinput container

– theresultof applyingop is ignored.Thatis op shouldprobablybeavoid function

– #include <algorithm>

� sort

– void sort(RandomAccessIterator first, RandomAccessIterator last)
or

– void sort(RandomAccessIterator first, RandomAccessIterator last,
ComparatorFunction comp)

– sortsthespecifiedrange

– usesthespecifiedcomparatorfunctioncomp if present;shouldbeabinaryfunctionactinglike
< for any two containerelements

– usesthecontainerelements’< if comp notspecified

– #include <algorithm>

� accumulate

– T accumulate(InputIterator first, InputIterator last, T init)

– T accumulate(InputIterator first, InputIterator last, T init, Bi-
naryFunction op)

– if op notspecified,do+ on all theelementsstartingwith aninitial valueof init, e.g.,0

– if op specified,doop onall theelementsstartingwith aninitial valueof init

– ex: accumulate(v.begin(), v.end(), 0) yieldssumof all vectorelements

– ex: accumulate(v.begin(), v.end(), 1, multiplies<int>()) yieldsprod-
uct of all vectorelements

– #include <numeric>

� inner product

– T inner product(InputIterator1 first1, InputIterator1 last1, In-
putIterator2 first2, T init)

– computesthedotproductof thetwo specifiedcontainersstartingwith valueinit

– thesecondcontainermustbeat leastaslargeasthefirst container

– #include <numeric>
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